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Section A
Answer ONE question in this section.

Use case studies to support your answers where appropriate.

Total for this question: 25 marks
1 The Restless Earth

1 (a) Study Figure 1 on the insert, a map showing the locations of young fold mountains and
ocean trenches.

1 (a) (i) The following statements describe the locations of young fold mountains and
ocean trenches.

Tick the three correct statements.

There are ocean trenches in the Pacific Ocean.

There are young fold mountains in Australia.

There are young fold mountains on the west coast of the
Americas.

There are young fold mountains in Southern Europe.

There are ocean trenches around the African coast.

There are always ocean trenches next to young fold

mountains.
(3 marks)
1 (a) (ii) Give two characteristics of an ocean trench.
SRR
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1 (a) (iii) Figure 2 shows the formation of young fold mountains.
Complete the sentence in each box to explain the formation of young fold mountains.

Figure 2
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(4 marks)

Question 1 continues on the next page

Turn over »
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4 Do not write
outside the
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1 (b) Study Figure 3 on the insert, which shows characteristics of the L’Aquila, Italy
earthquake in April 2009 and the Haiti earthquake in January 2010.

1 (b) (i) Use Figure 3 to complete the missing information in the table below.

Characteristic L’Aquila Haiti
Epicentre Near/about 7 km from
P L’Aquila
Area affected by Southern half of country
shockwaves
Two faults cross over each
Fault(s)
other
(3 marks)
1 (b) (ii) With the help of Figure 3, outline the differences in the magnitude of the two
earthquakes.
(3 marks)
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5
1 (c) Describe how earthquakes are measured using the Mercalli Scale.
(4 marks)
L (= IR o= Lo - PSP
Question 1 continues on the next page
Turn over »
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1 (d)

Describe how the effects of an earthquake in a richer area of the world are different
from the effects of an earthquake in a poorer area of the world.
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Total for this question: 25 marks
2 Water on the Land
2 (a) Figure 4 shows four ways in which a river transports its load.
Figure 4

Direction of flow

........................................ D @ @ @ " LSOOI [

On Figure 4, label each process in the space provided.

Choose the correct labels from the following list.

saltation suspension solution
abrasion attrition traction
(4 marks)
2 (b) Explain why a river deposits its load.
(2 marks)
Question 2 continues on the next page
Turn over »
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2 (c) Study Figure 5 on the insert, a 1:50 000 Ordnance Survey map extract of the
River Eden in Cumbria.

2 (c) (i) What is the approximate height of the River Eden in grid square 42577

(1 mark)
2 (c) (ii)) What happens to the River Eden at 4115647
(1 mark)
2 (c) (iii) What is the straight line distance along the line X — Y on the map?
...................................................... km
(1 mark)
2 (c) (iv) Grid squares 4357 and 4358 are outlined on Figure 5.
Describe the landform(s) found in these squares.
(3 marks)
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2 (d) Explain the formation of a flood plain.

2 (e) (i) Study Figure 6 on the insert, which shows the locations of flood events in England
between 2000 and 2007.

Are the following statements about the locations of these flood events true or false?

Tick the correct boxes.

Statement True False

Only the longest rivers flooded.

Flooding in 2000 affected only areas in northern
England.

Flooding affected more places in 2007.

(3 marks)

Question 2 continues on the next page

Turn over »
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2 (e) (ii)

Use a case study to describe the effects of river flooding.
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Total for this question: 25 marks
3 The Coastal Zone

3 (a) The sea erodes the coast in a variety of ways.

Draw a line to link each process to the correct definition.

Process Definition
Erosion is sand and pebbles being thrown against the coast.
Hydraulic power is the dissolving of some rocks by sea water.
Abrasion is the wearing away of the land.
Attrition is the force of the water against the coast.
Solution is the colliding of rock fragments into each other.

(4 marks)

3 (b) Study Figure 7 on the insert, a 1:50 000 Ordnance Survey map extract of the area
around Spurn Head in East Yorkshire.

3 (b) () Name the feature at 415128.

(1 mark)

(2 marks)

Question 3 continues on the next page

Turn over »
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3 (b) (iii) Use Figure 7 to draw a labelled sketch map in the grid below to show the features of
the spit.

38 39 40 41 42 43
18 | | | | 18
17 17
16 -16
15 1 -15
14 -14
13 1 -13
12 1 -12
11 4 -1
10 -10
09 . . . . 09

38 39 40 41 42 43

(3 marks)
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3 (b) (iv) Explain the formation of a spit.
(4 marks)
L (= IR o= Lo - PSP
3 (c) Outline how a bar is different from a spit.
(2 marks)
Question 3 continues on the next page
Turn over »
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3 (d)

Study Figure 8 on the insert, photographs of dunes at Studland in Dorset.

Describe the vegetation of the coastal habitat shown at X, Y and Z.

(3 marks)

1 4

G/T77198/Jun12/40304F

Do not write
outside the
box



15

3 (e)

Use a case study to describe the strategies used to conserve a coastal habitat.

End of Section A

Turn over for Section B
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Section B
Answer ONE question in this section.

Use case studies to support your answers where appropriate.

Total for this question: 25 marks
4 Changing Urban Environments

4 (a) Study Figure 9, a graph showing changes in the urban populations in the rich world
and the poor world between 1950 and 2010.

Figure 9
4000 IEEEEEEE EEEEEEE
B Key
1] Rich world
30004+ [ Poor world
Urban RN AR AR REREN ARRERERREN AR SEEEEEERER
population 2000
(millions)
1000 ,
0 || l: N n a

1950 1960 1970 1980 1990 2000 2010 2020

Year (projected)
4 (a) (i) Complete Figure 9 using the following projected information for 2020.
Rich world 1000 million
Poor world 3800 million
(2 marks)
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4 (a) (ii) Explain the rapid growth of the urban population in the poor world.
(4 marks)
L (= IR o= Lo - PSP
Question 4 continues on the next page
Turn over »
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Do not write
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4 (b) Study Figure 10 on the insert, a photograph of a squatter settlement.
4 (b) (i) Figure 11 is a black and white copy of Figure 10.

On Figure 11, mark with an arrow and label three features that may affect the lives of
the people living in the squatter settlement.

Figure 11

(3 marks)
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4 (b) (ii)

In Kolkata in India the following improvements have been made to the squatter
settlements or bustees.

Complete each sentence below to suggest how the improvement may help the people
living there.

There has been improved sewage diSPOSal SO ...........ceiiiiiiiiiiiiiiiiiie e

(4 marks)
4 (b) (iii) Give two features of a Site and Service scheme for a squatter settlement.
L ettt e ettt et eeeeeeeeeeeaeeeeeeeeeeeaaaesee—eeeeeeeeeaaan—tteeeeeeeeeaaanneteeeeaeeeeaannnraaeeeeaannrrneees
2 e eeee e e e e eeeeteeeeeeeaaaae——eeeeeeeeaaaaa——eeeeeeeeeaaantatteeeeeeeaaannnreaeeeeaannnreeees
(2 marks)
Question 4 continues on the next page
Turn over »
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4 (c) Describe two effects of rapid industrialisation on the environment of cities in the
poor world.
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4 (d)

Use a case study to describe the main features of sustainable urban living.

Turn over for the next question

2 1

Turn over »
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5

5 (a)

5 (a) (i) Complete Figure 12 using the following information.

Changing Rural Environments

Total for this question: 25 marks

Study Figure 12, a pie chart showing the home areas of the people who commute to

the Scottish district of Clackmannanshire.

Figure 12
10
20
30
60 40

50

Key

Home areas of commuters

E Stirling

[[T1]]]] Falkirk

[ Fife

[ ] Perth and Kinross
I North Lanarkshire
[ Edinburgh

I West Lothian

[ ] Glasgow

I South Lanarkshire
I Other areas

Stirling

35%

Falkirk

20%

(2 marks)
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5 (a) (ii) Explain the growth of commuting in recent years.
(4 marks)
L (= IR o= Lo - PSP
Question 5 continues on the next page
Turn over »
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5 (b)

s (b) (i)

Study Figure 13 on the insert, a photograph of the rural—urban fringe.

Figure 14 is a black and white copy of Figure 13.

On Figure 14, mark with an arrow and label three land uses in the rural—urban fringe

shown.

Figure 14

Figure 14 is not reproduced here due to third-party copyright constraints.

(3 marks)
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5 (b) (ii) Choose two of the land uses in the rural—urban fringe shown in Figure 13.

For each land use chosen explain why a location in the rural—urban fringe is an

advantage.
Land UsSe 1 .o
Land USE 2 ...
(4 marks)
L (= IR o Lo - PP
Question 5 continues on the next page
Turn over »
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5 (¢)

The following are features of a commercial farming area in the UK.

For each feature complete the sentence below to show why this has developed in
recent years.

There has been an increase in organic farming because ...........cccccciiiiiiiiiiiiic i,

(2 marks)
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S (d) (i)

Use a case study to explain the effects of depopulation on a rural area.

Turn over for the next question

2 7

Turn over »
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Total for this question: 25 marks
6 Tourism

6 (a) Study Figure 15, a graph showing the percentage of money earned from tourism in
different parts of the world in 1970 and 2010.

Figure 15

Key
Europe
Americas
@ Asia
E Africa

2010 [ Middle East

1970

0O 10 20 30 40 50 60 70 80 90 100
Percentage

6 (a) () Complete Figure 15 using the following information for 2010.

Europe 50%
Americas 20%
(2 marks)
6 (a) (ii)) Explain why there has been an increase in global tourism in recent years.
(4 marks)
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6 (b) Study Figures 16a, 16b and 16c on the insert, photographs of types of holidays in
different extreme environments.

6 (b) () Name the three types of extreme environments shown in Figures 16a, b and c.

(3 marks)

6 (b) (ii)) Describe two reasons why there is an increased demand for adventure holidays.

ettt ettt et eeeeeeeeeeeaEeeeeeeeeeeeaaeseeteeeeeeeeeaan—tteeeeeeeeaaaaannateeeeaeeeeaannnraaeeeeaannnrneees
2 e et eee e e e e e e e—eeeeeeeeeeeaaa—e—eeeeeeeeeaaaaatteteeeeeeeaaaannaeteeeeeeeaaannareaeeeeaannrreeees
(4 marks)
EXIra SPACE ..o
Question 6 continues on the next page
Turn over »
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6 (c)

The following are statements about tourism.
For each statement below complete the sentence.
One effect that an external factor, such as a terrorist threat, can have on the number of

tourists coming t0 the UK IS ........ooiiiiiii e

A characteristic of the stagnation phase of the tourist area/resort life cycle

(01070 [ I TR

(2 marks)
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6 (d) (ii)) Use a case study to explain why a tropical tourist area attracts large numbers of
visitors.

END OF QUESTIONS
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Figure 12: ESEP Ltd
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